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Something which is fit to — PR AN DOIRD VD WTIP NIRRT 2T
become holy; excluding one who eats Terumoh which is Chomaitz

OVERVIEW

The Xn>72 cites the P09 of wMpn nNX 3727 101 from which we derive that the
payment for (a 71) eating 770 must be with a type of food that can receive the
7R of 717N, this excludes one who ate y»n n17n on 102 that he is not liable to
pay (since one cannot be ynn nmAN wIdn on noo). Our MooIN explains the
connection between that which he ate and that which he pays back.

= DINY 199 YD NPNY MININ 92717 11OV ¥IYN P1van KUAR L
The explanation is that the Pwp indicates that the 77 should give to the 772,

something which is w717 1% "R, just like what he ate which was a n1i% "2 927
TP -
- WP HPNY MNIN 937 )98 YIRY D13 )9 ON)

Therefore we derive from this P05 that this which the 77 ate, also needs to be a

WP NITY MIRT 937 -
- VTP PN 591 9937 YN 1wrHom YA DY NOINTI YHD HHNY IR IR AU XN

However, nosa y»n is not wTp n1i» "8, as the Xn»1a previously stated,
‘however one who sets aside y»n [to become 72Y9n] everyone agrees that it is
not 7»1n’.

Mmoo anticipates a difficulty:
- “9w194 YW NY Y 19N PMYNN RXIN VD Py Y927 22 by 9N

Even though that here (where one ate 1092 y»n nmn) he is exempt from
payment in any event, even if this y»r 02170 had a time when it was fit for 7mn -

" The term w1 in MdoMN (usually) denotes that some clarification is needed to understand the X723. Here too we
derive from the 109 that the payment must be a WP N1°2 X771 127; it does not say that what he ate must be a 127
WP N1A? MR, so perhaps even if he ate nooa yan NN he is liable to pay with food that is not v, which is a 127
WP N1 IR, N0 clarifies this issue (see [also] nX 7"7 >"wA).
% The n"a7 Mt amends this to read ynn nmen woenn (instead of yan woon).
3 Even *"937 '01 "1 who maintains that Y1 is 7RI72 N on 0o, nevertheless one cannot be YA NN W°I5H on oD,
The X3 later on X,37 derives this from the 105 (in 7,7 [D°woW] 0°7127) which states 12 NN "2 1T MWK, we
interpret this to mean, 12 (to him; that he should eat it) 1% &1 (and not that he should burn it for fire fuel), which is
what he will need to do with the y»nn nimnn (for all agree that he cannot eat it).
* This y»n nmn (which he ate) was fit to be 72770 at a certain time; it was harvested before noo, or it was harvested
on 109 (but the wheat was not ynr [see footnote # 7.] We could have separated 72170 from this wheat. This means
i nyw 79 797 (even if actually it became 72170 only after it was yan on non). See the X3 on X,37. See ‘Thinking
it over’.
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However later the X713 establishes this which the Xn»12 stated that 8 %277 27
7P, is only in a case where the y»r n2yan did not have a w27 nyw-—

mooIn responds:
= 999951 209 299 9391 BN 12229 N

The n''1 says, this qualification that y»n cannot become 72170 on 1109, only if it did

not have a 157 NYW, is only according to 3''7159, who maintains that Y is 78372 900 -
= ANINA NION NV \NDINT 199 N9°20) NN APy )a 97W99N 2a249Y HaN

However, according to ''aX9 since he maintains that nop2 y7m is NI 0N,
therefore -
- 73513 JN9 PRT YHD H1NY MR PR TN NYY 1Y 15D 19ON

Even if this y»n n»1n which the 77 ate had a 92197 nyw, nevertheless it is not
WTIP NP MR, since there is no ‘giving’ here -
- 129 WO ANID NN AP 12 YN 229 1Y 9INPT 1))

And this is what °'"'289 said to X»0m1 X'"9; ‘what benefit does the 372 have in this
yan an’ -

IPYIIDTI RIPN SVIWNY 7Y X N ANIN 1Y PN 9NN Cmhs
Meaning; since the 772 has no benefit from the y»n n217n, it should be excluded
from the P05, as I have explained.11

SR,
% In the n"27 My this reads; 1P (instead of Xpn).
" This rule (of the Xn™72) that if one is 1092 yr NN W9 it is not W17p (even according to 3"i7) is only where it
was never possible to become im0 before it became ynn. It became y»n while it was still attached to the ground
(water fell on the wheat and made them y»r) and at that point it is not fit to become 7m0 (because it is still
attached) and he harvested this Y21 wheat on 1o9). See footnote # 4.
¥ The question is how we know that if a 21 ate 092 y»n n=n which had a w57 nyw before nod that he is exempt
from Pm>wn. The only reason why we say he is exempt is because it is not w7 N2 "X1; however it is only ynn
which had no w57 nyw which is not WP N1% "X, but this yan NN (which had a w137 nyw [for otherwise how
is it considered ynn nn1AN]) is WP N MR and therefore he should be required to pay (food which is not y»m).
? The 7790 writes 1% 100 "W 737 WX (see footnote # 3), however since the y»n is AXI72 MOX he is not giving to the
172 anything (of value).
' The term 2m1%3 (like the term w11°0) denotes that some clarification is needed to understand the X723 Seemingly
°"aX7 is saying that since the 1713 is not receiving anything (or did not lose anything) why should the 71 pay him?
However initially "8 said that the 97 is 79 since we require a wTp N1°72 "X 127 (but not because of @ X317 1A
17). Therefore MmooIn explains since the 71 needs to eat a WP N2 "X 727 (see beginning of nwon that we derive
this from WP PR 3757 3NN that both the 720 which he ate, and the payment must be a WTp NPA? MR 727), so
when the 77 ate 1092 yan NN he did not eat a w7 N2 XA 127, since y1n cannot be given to the 1775 as 717N,
for the P09 states (see footnote # 9) 12 10 A1 7337 NWRA, but since the 3713 cannot derive any benefit from it, it is not
a nrnl. [It would seem that "1™ derives the rule that (W37 NYW 12 an°7 R2W) 10052 YRR NN WIONT is not 110
from 12 3nn (1KY &91); while *"ax" derives that it is not 7170 (even if it had a 7137 Nyw) from 17 100 (and by 1"Mo%X
there is no 71°n1).] See (71XR7) X"win for a (slightly) different explanation of npon.
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SUMMARY

We derive from wmpn X 17197 101 that the payment must be similar to what he ate,
and that both the payment and what he ate are w7 n1n? "X7. The rule of w™onn
TWYTR 1R 1092 yian NN applies, according to A", only to food that 737 o7 KD
w137 NYY to be 7117N0; however if we maintain Y17 is X172 MOK, it applies even to
food that had a w1277 nyw to be 7mN.

THINKING IT OVER

MooIn phrases his question that here (where we say that he is m%?wnn 2w9) we are
discussing all cases even when it had a w1 nyw, etc.'” It appears that mooin
infers that here there was a w107 nyw, since the X723 did not qualify this rule (of
TPwNn MWD 1odA Yan NMAN YR, indicating that it applies even if there was a
w1on nyw. However we need no inference; it is obvious that this y»r1 n»17n had a
127 nyw, for it i1s 721N0! Why does noown ask his question in a roundabout
way?!"

' See beginning of N0 and footnote # 10.
12 See (the 01N by) footnote # 4.
13 See 0"wn 11993 here X"y and A0 MX.
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